Paper Code (griferiz) Fosecks #2024 (17-A) - Aum
Number: 2117 .

ECONOMICS  PAPER-I ] M ([’/\/,,)/// ezt b
MAXIMUM MARKS: 20 20 = 2F| OBJECTIVE £y | TIMEALLOWED: 30 Minutes .30 = 3

You have four choices for each objective type question as A, B, C and D.
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The choice which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or QNo.1
pen to fill the bubbles. Cuiting or filling two or more bubbles will result in zero mark in that question.

- = B & QUESTIONS /=ity | Sr.No.
Demand’s Demand’s Rise of demand Fall in demand Decrease in demand due to increase in 1
contraction expansion Lo kb S price is called:

S0 thebe b ) ’ O TV PO G T 1 1)
Perfect elastic Inelastic More elastic Less elastic The supply of perishable good is: 2
/ugg)‘( llkg;_; /u?u'y /U«g{ _%Gnug‘;y/d/?m,‘g&y
Fall in supply Rise in supply Contraction of Extension of The increase in supply without change in | 3
Sy (o2 6ars supply supply price is called: -
) s e TGO s 103
The point where the curves of demand 4
Equilibrium point Supply Demand’s Firm’s and supply intersects each other is called:
ST equilibrium equilibrium equilibrium E S kb Larsm btz in
DI T L —q—t'MLLYJ— ye
Marginal Combined Composite Derived The demand of factors of production is; 5

2 ig=d g 38 -eaﬁv"’d/f’&uﬁ%

Four Three Two One Factors of production are: 6

A o » L Pt

Becomes negative | Remains constant Becomes zero Increases When total production is maximum then 7
{_&! i o oo e dnpe 3 marginal product:
_:/U#&ngq_aylu&}:.ukizl;ﬁ()i).
Five Four Three Two The stages of law of variable proportions 8
ég s 54 » are: A S Ll Ao
Become zero Remain same Decrease Increase W{Eh e increase of production, variable 9
i ur g wlnf =y costs will be: e A g
Monopoly Monopolistic Duopoly Oligopoly The perfect competition is opposite of: 10
Jdmuu_,: competition l,(ugw (july)'i -t‘—ﬂJ:U" L};
d/ <!
Under petfect competition firm’s average | 11
Parallel to Parallel to Negative slope Positive slope revenue and marginal revenue curves are:
y — axis X — axis - Kz et L mibrssndpfed s
S Llidy g Lif X Ty
Four Three Two One Kinds of market are ] 12
Se uf" » w1 - rlﬁl J i
Organization Capital Land Labour Wage is a reward of: 13
T €A 3 Kot PR |
Alfred Marshall Malthus Canon Adam Smith ~had presented the concept of 14
S Nl e M Quasirent.  -BYHFL Wbl
National income Firm’s Consumer’s Price theory In Macro Economics is studies: 15
ARAT equilibrium behaviour fod. f ¥ ‘4‘7‘?&( i Jca?b«f
Wi L) s pLA A
Ricardo Malthus Marshall Adam Smith The Welfare Economist is: 16
A o Fi Pey P
Become zero Become positive Increases Falls Due to the continuous use of commodity | 17
st ctasd abe ot s the marginal utility goes gn:
-Zuwr‘;c—db&"l)t‘ﬂéa
Wealth Utility Value Usefulness The characteristic of thing to satisfy 18
r ol 3 Sarasl human wants is called:
Price Supply Demand Time Continuous variable is: 19
ot s A < PN s
Water and book Tea and coffee Car and petrol Meat and Example of complementary good is: 20
.__zl:(ula& éK/Jlé—_‘P Ja},m/{ vegetable -g.dlf" JJL}:‘&{
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MAXIMUM MARKS: 80

80 = AS

SUBJECTIVE 9 | TIME ALLOWED: 230 Hours 5230 = =3

NOTE: Write same question number and its parts number on answer book, as given in the question paper. B gl Sr&bnAan /N’ﬂ?l-gd’d’ﬁ )

SECTION-1 gl maa

2. Attempt any eight parts. ‘ 16=2x8 W9y I, B2 40
(i) | What is meant by Consumer goods? St e PP t)
(ii) | Describe the concept of Scarcity of resources. LS eYS B (ii)
(iii) | What is meant by Inductive method of analysis? St ey i 55 (iii)

(iv) | What is meant by Economic problem? Cei e i @iv)
(v) | What is meant by Consumption? S e )
(vi) | Define the Law of Equi-marginal utility. I N IesEy (vi)

(vii) | Why the slope of indifference curve is negative? S bl KAk S els (vii)

(viii) | What is the difference between continuous and discontinuous variable? e G S e | (il
(ix) | Prepare the schedule of Law of demand by using the equation. 0 =10-2P 0=10-2P _uf&,,;;fg?uég,,,vjd, (ix)
(x) | Write three causes of negative slope of demand curve. _u:-ﬂ eq2sl Sz s x
(xi) | Write methods of measuring elasticity of demand. ‘u;dv 2L PRl __gJ ) (xi)

(xii) | What is meant by joint demand or demand of complementary goods? Cet e b J”/"wk’!z (xii)

3. Attempt any eight parts. { 16=2 X8 _édaylkﬁlzllfc‘jfﬁ/dlr
(i) | Define Law of Supply. ey Sis | D
(ii) | Describe the difference between Supply and Storage? it Zsnaes | GD

(iif) | What is meant by Short Run Supply? g‘L),/g‘,__ijJ_ﬁj/ (iif)

(iv) | Write two examples of the supply of complementary goods. e gug@,,d;,,&;,y @iv)
(v) | What is meant by Equilibrium? P e ild )
(vi) | Define Perishable goods. ey /Jlf‘ Libis (vi)

(vii) | Define Labour. ey Pl | (VD)

(viil) { What is meant by Scale of Production? 2 bl St e S ek (viii)
(ix) | What is meant by Mobility of Labour? St e 7S (ix)
(x) What is meant by Sleeping partner? Sl P il a0l P x)
(xi) | Define Law of Decreasing Cost. ey, A ‘:f,;fuu gy | (D)

(xii) | Describe the Law of Variable Proportions. e ST (xi)

4. Attempt any nine parts. 18=2X9

Erfrlimie i asy

(i) | Define Marginal cost. £ le-(""f 6
(i) | What is meant by Oppertunity Cost? St Y e S (ii)
(ili) | What is meant by Firm? ‘ St et 3 (iit)
(iv) | What is the difference between Legal monopoly and Natural monopoly? te JA UG YRRY P o356 (iv)
(v) | Draw the MR and AR curves under monopoly‘. «J&bﬁﬁuﬁ:‘:f‘?u’w'J{/"cjédﬂww )
(vi) | Write any three names of mpnopolies in Pakistan. _V,gi (L uginsel Lodfiz ruﬁuw’g (vi)
(vii) | Write conditions of firm equilibrium according to equilibrium point. y U:J i ;Ju}., Fd ¢ el L oitd b (vit)
(viii) | What does a firm earn under Perfect Competition in long run? fo Jb’lf( ed LA J.i LS (viii)
(ix) | What is meant by day to day market? fesl e S (ix)
(x) | What is meant by Marginal Productivity Theory? el yars 4,‘5,1,1,5.';"’ P (x)
(xi) | What is meant by Speculative demand for money? e Ve .?JI"J/J L L vj (xi)
(xii) | Define Windfall Profit. ) il /‘7&3&? 1 (xii)
(xiii) | What is meant by Liquidity preference theory of money? ?‘E’),/gbg}]!_é]d’jgd (xiii)

SECTION-II gy

NOTE: Attempt any three questions. 30=10x%3 | _éd&km‘:gm,,d"(j[ s |

5. | Write the definition of Economics described by Alfred Marshall; U b UL U E u:"J.:awb» i P S b A Sy |5
also describe its merits and demerits. - - ) ) )

6. | Write a note on Price elasticity and Income elasticity. _Jg‘f_.d; BTt | 6

7. | Describe advantages and disadvantages on large scale of production. PSS L g g ey | T

8. | Explain Law of Constant returns to scale with the help of schedule and diagram. [ e f‘ s sinst S oo S P bt s | -8

9. | Critically evaluate Ricardo’s theory of Rent. J e S P L | 9
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